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In the 1970s China’s population

Something You Didn’t Know (Population® in 2050) went over 800 million and by the end of the
1. The world population will be 9 billion® people. POPULATION OF THE EARTH —— decade®® it was about to cross!® 1 billion
2. India will have the most people, 1.6 billion. Number of people living worldwide since 1700 in billions BA5 O b people. The government? didn’t know how
3. 1.5 billion people will be over 65. to control it so they decided on?! the one
4. Japan will only have 80 million people. child policy. This rapidly?® lowered? the
5. The top three countries will be India, China, Nigeria. birth rate?® in the country and slowed the
6. Japan, Russia and Germany’s populations will decrease’. population growth. The population is
7. After 2050 there are three different ways the Thin — e - expected to? peak® at 1.5 billion in 2030.
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Announcements

Tuesday is a holiday. 3" grade have
holiday Monday and Wednesday. 4™ and
5t grade have tests on Wednesday. 15
and 2" grades have English day on Sat.




